AtLFERR

ARLIZfFLI-%EIE

SHSEE EKEEZE BKEMRIEMIABEK)

A &FEAB SM6E2R 148 | FEME CHERIRE) ¥4,702,728
FIXR ETKER *1E IKEHEER
AfLE =% (M Ayt—o wE
1 |BRXedt BHKEE 4,600,000 RE
2 |BEKEERRE 4,670,000
3 |H%A=wt RMER 4,692,000
4 | NEREREE 4,700,000
5 %A=t BUERKEER 4,700,000
6 |t HTEE 4,702,728
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOFEFRMEERVCRESREEEESTREOEBYTT,
AR G IR Af 4% 4,217,406 M
AR IR {1 2 89.68 %




AtLFERR

ARLIZfFLI-%EIE

SHSEE (1&H) BB ERAMRKERIEE X (B 10235 EIRTE

A &FEAB SM6E2R 148 | FEME CHERIRE) ¥6,910,909
FIXR R *1E TR-—=K
AfLE =% (M Ayt—o wE
1 |ARs PUo71ER 6,200,000 RE
2 |BR=# yn=% 6,550,000
3 |H%A= KHER 6,900,000
4 |BH=t ZHER 6,910,909
5 |AR= RIFFES R
6 |SEfHHEE KAt R
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOFEFRMEERVCRESREEEESTREOEBYTT,
AR G IR Af 4% 6,129,285 M
AR IR {1 2 88.69 %




AtLFERR

ARLIZfFLI-%EIE

SHSEE (B#) MNSEKEERIBEE F875 AIIKEEBISE

A& AR TH6F2R148 | FEME CHERIKE) ¥14,450,000
IR #HRE *iE TR-—=K
ARLE =% (M Ayt—o wE
1 | KZ=ER Hlatt 14,450,000 RE
2 (=t #AE iR
3 %A=t KHELE iR
4 |AR=H FEER iR
5 [JROEE = iR
6 A=t RTHE iR
7 |AR=# KIFER iR
8
9
10
11
12
13
14
15
16
17
18
¥ SEOREFRMEERVRERREERITROEEYTT,
B {15 PR Al A% 12,837,380 M
B JE ] PR fffi 1% 22 88.84 %




AtLFERR

ARLIZfFLI-%EIE

SHSEE (B#) MNISFKEERIBEE F885 MIKEEIBISE

A& AR TH6F2R148 | FEME CHERIKE) ¥5,952,728
IR #HRE *iE TR-—=K
ARLE =% (M) Ayt—o o
1 |ARE4 REEH 5,952,000 RE
2 |BRE EERE 5,952,728
3 |AR=w# FEE iR
4 |AR=# FNIHE iR
5 |AR=# EEER iR
6 [ MIUTIHE #iR
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOREFRMEERVRERREERITROEEYTT,
B {15 PR Al A% 5,268,758 M
B JE ] PR fffi 1% 22 88.51 %




AtLFERR

ARLIZfFLI-%EIE

THSEEGMR AIFKEEBEX $815 EBKEEBEIS

A &FEAB SM6E2R 148 | FEME CHERIRE) ¥6,622,728
FIXR R *1E TR-—=K
AfLE =% (M Ayt—o wE
1 |ARE4 LB 5,980,000 RE
2 | K B 5,998,000
3 |AR=# ERER 6,011,000
4 ;gﬁ&%yﬁzlr—%‘r‘ﬁ%y 7S 6.092.000
5 [H%Ast vy iR
6 |BRE=# WztEELRK R
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOFEFRMEERVCRESREEEESTREOEBYTT,
AR G IR Af 4% 5,869,061 M
AR IR {1 2 88.62 %




AtLFERR

ARLIZfFLI-%EIE

SHSEE (B#) MNSEKEERIBEE F755 ERKEEBISE

A &FEAB SM6E2R 148 | FEME CHERIRE) ¥10,218,182
FIXR R *1E TR-—=K
AfLE =% (M Ayt—o wE
1 |ARE# EKEH 9,185,000 RE
2 B WmTER 9,216,000
3 %A= NEEMH 10,100,000
4 Bt FEHER 10,150,000
5 |BRAER #Xett 10,218,182
6 |RREE 10,218,182
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOFEFRMEERVCRESREEEESTREOEBYTT,
AR G IR Af 4% 9,101,335 M
AR IR {1 2 89.07 %




AtLFERR

ARLIZfFLI-%EIE

THSFEEGREM BMKERBER F10015 HEHIE

A& AR TH6F2R148 | FEME CHERIKE) ¥6,315,455
IR #HRE *iE TR-—=K
ARLE =% (M) Ayt—o o
1 | edt K51 5,682,000 RE
2 |BREHL MAFHIE 5,695,000
3 |BERsH SUTIEE 5,980,000
4 AR SEHLTE 6,315,455
5 |EfELEK iR
6 ARt FEER iR
7
8
9
10
11
12
13
14
15
16
17
18
¥ SEOREFRMEERVRERREERITROEEYTT,
B {15 PR Al A% 5,608,124 M
B JE ] PR fffi 1% 22 88.80 %




AtLFERR

ARLIZfFLI-%EIE

SHSEE (B#) MNSFKEERIBEE F895 AJIKEEIBISE

Af & A B SH6FE2R 148 | FEME CHETIRE) ¥5,886,364
FIXR EEE *1E et
AfLE €58 (F) Ayt—o wE

1 |BR=1 AEFER iR

2 |BER=# yn=4 R

3 |t BERE R

4 (%Rt REIHE FE31E]

5 |AR= RIFFES R

6 |BiEikMER Klst R

7

8

9

10

11

12

13

14

15

16

17

18




